
20.01.1101.01

شھادة الضمان ودلیل المستخدم



- 2 -

1 / 4

2 / 4

3 / 4

4 / 4

 13.07.01.108 x 38 13.07.01.110 x 54 13.01.01.049 x 54 13.01.01.111x 1613.03.01.003 x 4
M4X20

13.02.01.018 x 16

13.05.01.014 x 113.05.01.015 x 1

13.05.01.016 x 313.05.01.017 x 3

13.07.01.016 x 1

13.02.01.019 x 12 13.02.01.004 x 4

13.06.01.026 x 4

13.03.01.027 x 8 13.01.01.119 x 4
M6X25

13.04.01.063 x 1

13.03.01.024 x 16 13.07.01.096 x 8

13.04.01.059 x 2

13.07.01.111 x 16

13.04.01.061 x 1 13.02.01.015 x 4



- 3 -

18.01.1101.011 x 1 18.01.1101.015 x 1

18.01.1101.015 x 1

18.01.1101.017 x 1 18.01.1101.018 x 1 18.01.1101.019 x 1

18.01.1101.016 x 1

18.01.1101.016 x 1

18.01.1101.012 x 1

1 / 4

2 / 4

18.01.1101.060 x 3

18.01.1101.063 x 1 18.01.1101.064 x 1 18.01.1101.070 x 1 18.01.1101.073 x 1

18.01.1101.074 x 1

18.01.1101.075 x 1

18.01.1101.076 x 1 18.01.1101.079 x 1 18.01.1101.080 x 118.01.1101.081 x 1

18.01.1101.082 x 1 18.01.1101.085 x 1 18.01.1101.086 x 1 18.01.1101.087 x 1

18.01.1101.038 x 1 18.01.1101.039 x 1 18.01.1101.040 x 1

18.01.1101.042 x 1

18.01.1101.045 x 1

18.01.1101.091 x 1



- 4 -

18.01.1101.008 x 1

3 / 4

4 / 4

18.01.1101.001 x 1 18.01.1101.006 x 1

18.01.1101.099 x 1

18.01.1101.097 x 1

18.01.1101.101 x 1

18.01.1101.098 x 1

18.01.1101.059 x 1

18.01.1101.100 x 1

1
13.07.01.108 x 6

!

13.02.01.018 x 2

13.05.01.015 x 1

13.01.01.119 x 2

18.01.1101.091

!

13.07.01.110 x 2



2

3

4

5

- 5 -

!

13.07.01.110 x 4

13.01.01.111 x 4

!

13.07.01.110 x 4

!

13.07.01.110 x 2

4x

13.07.01.108 x 4

13.01.01.119 x 2

18.01.1101.038

18.01.1101.038

18.01.1101.091

18.01.1101.045

18.01.1101.045

18.01.1101.040

13.04.01.013 x 2

13.02.01.015 x 4



- 6 -

7

6

8

9

4x

13.07.01.108 x 8

!

13.07.01.110 x 4

!
13.03.01.024 x 8

13.07.01.016 x 1

13.07.01.096 x 8

18.01.1101.039

18.01.1101.015 x 2

18.01.1101.016 x 2

18.01.1101.017 x 2

18.01.1101.018 x 2

18.01.1101.012

13.07.01.111 x 16

18.01.1101.040

!

13.07.01.110 x 12

13.01.01.111 x 8



- 7 -

10

11

12

13

16x

4x

!

13.02.01.018 x 6

13.05.01.016 x 3

13.07.01.108 x 2

!

13.07.01.110 x 2

18.01.1101.039
18.01.1101.012

18.01.1101.015 x 2

18.01.1101.017 x 2

18.01.1101.018 x 2

18.01.1101.064

!

13.03.01.024 x 8

13.07.01.016 x 1

18.01.1101.016 x 2

13.01.01.049 x 16



- 8 -

14

15

!

13.07.01.108 x 4

!

13.07.01.110 x 2
13.02.01.018 x 6

13.05.01.017 x 3

!

13.02.01.018 x 2

13.05.01.014 x 1

4x

18.01.1101.063

18.01.1101.063

18.01.1101.064



16

17

18

19

- 9 -

!

13.07.01.110 x 4

13.01.01.111 x 4

4x

!

13.07.01.110 x 6

18.01.1101.019

18.01.1101.011

18.01.1101.011

18.01.1101.001



20

21

22

- 10 -

4x

2x

13.01.01.049 x 20

13.01.01.049 x 2

13.07.01.108 x 2

13.03.01.027 x 8
M6X25

13.07.01.016 x 1

18.01.1101.001

18.01.1101.008

18.01.1101.008



23

24

25

- 11 -

18.01.1101.006

18.01.1101.042

18.01.1101.042

13.02.01.004 x 2

13.04.01.063 x 1

13.02.01.004 x 2

13.04.01.061 x 1



26

27

- 12 -

!

13.07.01.110 x 10

13.03.01.003 x 1
M4X20

18.01.1101.073

18.01.1101.079

18.01.1101.080

18.01.1101.085

18.01.1101.086

18.01.1101.074

13.06.01.026 x 1



13.07.01.108 x 12

12x

13.01.01.049 x 12

18.01.1101.087

18.01.1101.075

18.01.1101.081

13.07.01.016 x 1

13.02.01.019 x 12

18.01.1101.070

18.01.1101.076

18.01.1101.076

18.01.1101.082

18.01.1101.060 x 3

1
8

.0
1

.1
1

0
1

.0
7

3

1
8

.0
1

.1
1

0
1

.0
7

4

18.01.1101.070

1
8

.0
1

.1
1

0
1

.0
7

9

1
8

.0
1

.1
1

0
1

.0
8

0

1
8

.0
1

.1
1

0
1

.0
8

5

1
8

.0
1

.1
1

0
1

.0
8

6

28

29

30

- 13 -



1

2
A

B
B

C
+

-

C +

-

13.03.01.003 x 3

13.06.01.026 x 3

M4X20

18.01.1101.059 18.01.1101.082

18.01.1101.076

18.01.1101.070

31

- 14 -



i

- 15 -



- 16 -


